
A m p l i fi e r s

E L E C T R i C A L C H A H A C T E R I S T I C S

GAIN AND INPUT

C I R C U I T

— — A U U H

Baoause of the fact that the tubas draw
grid currant at high powar output, both
gain and internal input inpadanoa Tary
with powar output.

The gain is suoh that 155 Tolts aoross
the primary of the input transformer giras
1000 watts output.

The input ooil operates from 100-500 ohms.
The Internal Input Impedance Tarias as fol
l o w s ;

1000 Watts Output - - 6,500 Ohms
5 0 0 " " - . 3 0 , 0 0 0 "

B e l o w 5 0 0 " " - - 3 0 . 0 0 0 "
OPERATES INTO 8, 32, 73 or 130 Ohms

INTERNAL OUTPUT IMPEDANCE 1/1.2 of Corresponding Load Impedance.

OUTPUT POWER 5 0 0 W a t t s a t H a r m o n i c D i s t o r t i o n .
1000'Watts at 10$b Harmonic Distortion.

O U T P U T N O I S E -10 to -20 db depending upon tubes.

POWER

SUPPLY

F I L A M E N T S A N D

CONTROL CIRCUIT gSKalt! 115.Vol t8„50-60"
,.mll l§8"8atts

t L A f S
V O LTA G E

11 5 o r 2 3 0 V o l t s 6 0 "
Three Phase

11 5 Vo l t s 5 0 - 6 0 "
S i n R l a P h a s e

PLATE LOAD 1000
WAT T S O U T P U T

2240 Volt Amperes 1925 Watts
Plate load 506
WATTS OUTPUT 1600 Volt Amperes 1400 Watts

PLATE LOAD 250
■WATTS OUTPUT 1210 Volt Isperes 1050 'Watts
hiATE LOAD 100
WATTS OUTPUT 950 Volt Amperes 800 Watts

GAIN CONTROL
r u e d P a d s

3 S t e p s , 3 d b e a c h
F i x e d P a d s

1 s t e p . 3 d b

E Q U I P M E N T C H A R A C T E R I S T I C S

' .VEICHT 6 0 0 l b s .

S I Z E f 2 " 1 2 2 " X 2 5 "

M O U N T I N G
S e l f C o n t a i n e d i n R e l a y
R a c k Ty p e C a b i n e t

N O 1 - 8

A M P L I F I E R

l O O A . B

3 - 1 - 3 7

2 2 0



100-A/100 B

N O I - 8 A
AMPLIFIER MODIFICATION
lOOA
3 - 2 2 - 3 8

THE lOOA AHPLIFIBR, C071R5D ON APPARATUS
B8FSBSHCS HO. 1-8, IS HORMAIIT WIRED FOR USB
ON 230 WOLTS, JoQ", Zi SUPPLY FOR THE PLATES AND 115
FOLTS, 60", ll SUPPLY FOR THE FILANENT AND CONTROL
CIRCUITS. INFORMATION IS GIVEN IN THE COLUMN TO THE
RIGHT FOR THE OPERATION OF THE AMPLIFIER ON THESE OR
OTHER POWER SUPPLIES AS FOLLOWS:

115 VOLTS, 60", AND 115 VOLTS, 60", 1^
115 VOLTS, 60", 1^
115 VOLTS, 50", Id

POWER SUPPLY M O D I F I C AT I O N

(A) 230V, 60", 3d USE lOOA AMPLIFIER AS IS.
AND

(B) 115V, 60-, id

(C) 115V, 60", 3d STRAP PRIMARY OF D-97604
A N D T R A N S F . T 6 L I K E T H I S :

( D ) 11 5 V, 6 0 " , I d n r To n n f t n ^ — , 7

CONNECT POWER

(A) 16, 17, 18
AND

(B) 11, 12

(C) 16, 17, 18
AND

(D) 11, 12

NOTE:
SINCE THE LINE CURRENT IN THE PUTE POWER

SUPPLY INCREASES WITH INCREASED POWER OUTPUT FROM
THE AMPLIFIER AN EXCESSIVE AMOUNT OF HARMONICS WILL
BE INTRODUCED INTO THE AMPLIFIER OUTPUT UNLESS THE

VOLTAGE RE6UUTI0N OF THE POWER SUPPLY IS SUCH THAT
A CHANGE FROM HALF LOAD TO FULL LOAD IN THE PLATE
SUPPLY CIRCUIT PRODUCES A CHANGE IN VOLTAGE AT THE
AMPLIFIER TERMINALS OF NOT MORE THAN 2.5$(.

115V, 60", Id SUBSTITUTE (») D-99279 TRANSF.
IN PLACE OF D-97604 TRANSF. AS
T6. REMOVE FUSES Fg, F3, F4.
CHANGE Fi TO 20AMPS. REMOVE
V5 FROM SOCKET. CHANGE WIRING
PER SCHEMATIC ON REAR.

16, 17
STRAP TERMINALS AS
SHOWN ON SCHEMATIC
ON REAR. GROUND
SIDE OF POWER SUP

PLY SHOULD CONNECT
TO TERMINAL 16.

115V, 50" SAME i'lS FOR 115V, 60", id EX
c s P T a l s o s u b s t i t u t e a
D-99280 TRANSF. IN PLACE OF

352H TRANSF. AS T5 .

♦THE FOLLOWING PARTS ARE RE(iUIRED FOR THIS SUBSTITUTION. QUANTITIES
ARE FOR ONE AMPLIFIER. ALL PARTS TO HAVE A Z INC PLATE 3A FINISH.

2 REQUIRED - MOUNTING PUTES AS DETAILED ON THIS SHEET
4 REQUIRED - HEX. HEAD IRON BOLTS 3/8"-16 i 1-1/4" LONG
4 REQUIRED - STANDARD IRON WASHERS FOR THE ABOVE 3/8" BOLTS
4 REQUIRED - STANDARD STEEL LOCK WASHERS FOR THE ABOVE 3/8" BOLTS
4 REQUIRED - STANDARD IRON HEX. NUTS FOR THE ABOVE 3/8"-16 VOLTS
4 REQUIRED - l/2"-13 x 1-1/4" LONG F.H.I.M. SCREWS
4 REQUIRED - STANDARD STEEL LOCK WASHERS FOR THE ABOVE 1/2" SCREWS
4 REQUIRED - STANDiiRD IRON HEX. NUTS FOR THE ABOVE l/2"-13 SCREWS

2 2 1




